
Timestamp Email Address Score Name University / Institutions Designation Mobile Number Power of a lens is measured in An aplanatic lens is a lens is a lens free from the following defects or aberrationsThe speed of light in air medium is Convex lens is also known as Len’s makers formula is given by the expressionRefractive index of kerosene is Say True or False: The refractive index for the material of a prism is different for different wavelengths or colours  Dispersive power of water is Rainbows visible only when the altitude of the sun is  Wave number of a wavelength is given by the expressionSextant is an instrument used to measure One light year is equal to The unit of illuminating power of sources is  measured in Corpuscular theory of light was given by Christian Huygens proposed the wave theory of light in the yearBrewster’s statement for refractive index of the materials of a lens is  The phenomenon of interference  has been used to test the Holography is useful to provide a high capacity system for Diffraction in simple words is known as The function of a Zone plate is similar to that of a The magnifying power of a telescope or microscope is dependent on the ….. of the lenses used The Human eye is most sensitive to a light of wavelengthMichelson’s Stellar interferometer is used to measure …… of the stars.The phenomenon of polarization was used to establish that light wave are …… in natureCalcite [crystallized calcium carbonate ] which produces double refraction is also known as 
5/27/2020 11:08:05 shamisardar24@gmail.com 96 / 100 Dr. F. LIYAKATH ALI KHANISLAMIAH COLLEGE Research Scholars 9445913721 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 11:49:21 prakashvenkee07@gmail.com 40 / 100 M R PRAKASH Bharath institute of higher education and researchResearch Scholars 9551051844 (c) millimeter (c) coma (d) ) 3 × 10E5 m/s (c) convergent  lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](b)1.5 (a) True (c) 0.0193 (a) less than 42˚ (c) ν = λ/C (b) Height of building (d) 5.8 lakh miles (d) meter (b) Galileo (c) 1769 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (b) Narrow light (c) convex lens (b) material (b) 5500 A ̇ (c) Diameters (a) straight waves (d) positive crystal
5/27/2020 12:04:02 manozdewtwal@gmail.com 32 / 100 Manoj Kumar Dewtwal Central University of KeralaResearch Scholars 8949675327 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (c)  same (c) 0.0193 (b) more than 42˚ (c) ν = λ/C (b) Height of building (b) 5.8 million miles (c) Candela (a) Sir Isaac Newton (a) 1677 (b) μ = Sin (A+D)/2 (b) Refractive properties of  glass(b) light storage (b) Narrow light (b)  biconcave lens (b) material (c) 5555 A ̇ (c) Diameters (b) Progressive waves (b) opaque crystal
5/27/2020 12:54:51 claridurai03@gmail.com 72 / 100 Clarison Chinnadurai M. PSG COLLEGE OF ARTS AND SCIENCEstudents 08098814271 (b) Dioptre (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (d) 1697 (c) μ = tan ip (d) Planes of glass surface(b) light storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (d) Brightness (d) Transverse waves (d) positive crystal
5/27/2020 12:59:19 sowmiya24001@gmail.com 76 / 100 SOWMIYA B PSG COLLEGE OF ARTS AND SCIENCE students 6383719747 (b) Dioptre (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (a) less than 42˚ (d) ῦ = 1/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 13:03:55 radhikanllbll785@gmail.com 44 / 100 Nallabelli Radhika Aurora's PG College Research Scholars 7893725365 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (a) True (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (a) Dioptre (c) Fizeau (b)1679 (d) μ =Cos i/Cos r (b) Refractive properties of  glass(c) X-ray storage (a) bending of light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (c) Diameters (c) Longitudinal waves (a) Iceland spar
5/27/2020 13:22:44 waseeqshaik@gmail.com 80 / 100 S. Mohammed Waseeq PSG College Of Technology students 6383827315 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (a) less than 42˚ (d) ῦ = 1/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (d) 5050 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/27/2020 13:23:06 sangeethamurugesan678@gmail.com 52 / 100 Sangeetha M PSG College of Arts and Sciencestudents 6380762734 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (a) Divergent lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (c) at 42˚ (d) ῦ = 1/λ (a) Height of a star (b) 5.8 million miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(c) X-ray storage (a) bending of light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (b) Length (d) Transverse waves (c) Refractive crystal
5/27/2020 13:25:40 dkaravinth@gmail.com 76 / 100 Aravinthan K PSG College of Arts and ScienceResearch Scholars 9894057739 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (b) more than 42˚ (d) ῦ = 1/λ (b) Height of building (b) 5.8 million miles (c) Candela (a) Sir Isaac Newton (b)1679 (a) μ = Sin i/Sin r (d) Planes of glass surface(b) light storage (a) bending of light (a) concave lens (a) focal length (b) 5500 A ̇ (b) Length (d) Transverse waves (a) Iceland spar
5/27/2020 13:26:58 firdhouse18@gmail.com 56 / 100 A.THASNEEM ISLAMIAH WOMEN'S ARTS AND COLLEGEstudents 9344955584 (b) Dioptre (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (c) 0.0193 (a) less than 42˚ (c) ν = λ/C (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (c) 1769 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (c) Straightening of light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/27/2020 13:38:30 kaanish5112000@gmail.com 56 / 100 KANNISH.L.V PSG college of arts and science students 7598609447 (b) Dioptre (c) coma (d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (b) false (d) 0.0168 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (d) Brightness (c) Longitudinal waves (d) positive crystal
5/27/2020 14:12:54 kjaiveer007@gmail.com 76 / 100 Kiruthika j Psg college of arts and sciencestudents 6383701187 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (b) false (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 14:17:50 yogalakshmiamb123@gmail.com 92 / 100 M.YOGALAKSHMI PSG College of arts and sciencestudents 8754212115 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (d) 0.0168 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 14:19:39 dhivyadd2810@gmail.com 92 / 100 Dhivya dharshini PSG college of arts and sciencsstudents 6383277631 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 14:29:05 fathimahanan1223@gmail.com 96 / 100 Fathima Hanan PSG College of Arts and Sciencesstudents 8606514236 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (a) ν = C/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 14:39:22 prasathnaveen027@gmail.com 96 / 100 Naveen prasath.C Psgcollege of arts and sciencestudents 9629770159 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 14:47:40 selvarajmasc@gmail.com 44 / 100 K.SELVARAJ MAHENDRA ARTS & SCIENCE COLLEGE AUTONOMOUS, NAMAKKAL DtResearch Scholars 09894717781 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (c) 0.0193 (a) less than 42˚ (b) ν = λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (c) Absorptive power of glass(c) X-ray storage (a) bending of light (b)  biconcave lens (c) Refractive index (c) 5555 A ̇ (b) Length (a) straight waves (b) opaque crystal
5/27/2020 15:36:45 gowthamtamizl@gmail.com 68 / 100 Gowtham N PSG College of Arts and Sciencestudents 9677611469 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(b) light storage (a) bending of light (d) Plano convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 18:09:31 sathishkumar2972002@gmail.com 40 / 100 Sathish Islamiya autnamus collegestudents 6382671735 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (b) negative lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](b)1.5 (a) True (a) 0.0296 (a) less than 42˚ (b) ν = λ (b) Height of building (c) 5.8 kilometer miles (c) Candela (c) Fizeau (c) 1769 (c) μ = tan ip (b) Refractive properties of  glass(a) Image storage (b) Narrow light (b)  biconcave lens (b) material (b) 5500 A ̇ (b) Length (a) straight waves (a) Iceland spar
5/27/2020 18:23:13 jaganhero003@gmail.com 28 / 100 S jagan Islamiah college autonomousstudents 9344332050 (b) Dioptre (d) chromatic aberration (a) 3 × 10E8 km/s (c) convergent  lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (c) at 42˚ (c) ν = λ/C (a) Height of a star (c) 5.8 kilometer miles (c) Candela (c) Fizeau (c) 1769 (b) μ = Sin (A+D)/2 (a) Refractive  index of the glass(b) light storage (c) Straightening of light (c) convex lens (a) focal length (d) 5050 A ̇ (d) Brightness (c) Longitudinal waves (b) opaque crystal
5/27/2020 18:32:34 satabrez90@gmail.com 28 / 100 TABREZ S A ISLAMIAH COLLEGE(AUTONOMOUS)Research Scholars 7010804854 (c) millimeter (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (a) Divergent lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](b)1.5 (c)  same (b) 0.0180 (d) at 32˚ (c) ν = λ/C (c) Height of Sun (c) 5.8 kilometer miles (c) Candela (a) Sir Isaac Newton (a) 1677 (a) μ = Sin i/Sin r (b) Refractive properties of  glass(b) light storage (c) Straightening of light (c) convex lens (d) Dispersive Power (d) 5050 A ̇ (b) Length (c) Longitudinal waves (a) Iceland spar
5/27/2020 18:37:15 ayokesh624@gmail.com 72 / 100 YOKESH. A University students 9360671562 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (a) ν = C/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (d) Planes of glass surface(b) light storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (d) positive crystal
5/27/2020 18:37:41 sakthivels282000@gmail.com 40 / 100 Sakthivel Islamiah students 7094594896 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (b) 0.0180 (a) less than 42˚ (c) ν = λ/C (c) Height of Sun (b) 5.8 million miles (c) Candela (b) Galileo (b)1679 (b) μ = Sin (A+D)/2 (a) Refractive  index of the glass(c) X-ray storage (d) obstacle of light (d) Plano convex lens (c) Refractive index (a) 5000 A ̇ (b) Length (b) Progressive waves (a) Iceland spar
5/27/2020 18:42:03 gocool1934@gmail.com 100 / 100 A. Gokulraj University students 9940115662 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 18:45:46 arularumugam72@gmail.com 16 / 100 A. Arul Islamiah college vaniyambadi students 6380550757 (d) nanometer (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (d) none of these (a) 1/f = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (a) True (d) 0.0168 (c) at 42˚ (c) ν = λ/C (c) Height of Sun (b) 5.8 million miles (a) Dioptre (b) Galileo (d) 1697 (b) μ = Sin (A+D)/2 (a) Refractive  index of the glass(c) X-ray storage (b) Narrow light (c) convex lens (c) Refractive index (a) 5000 A ̇ (b) Length (a) straight waves (c) Refractive crystal
5/27/2020 18:59:32 prasanthstar10@gmail.com 52 / 100 Prasanth L Thiruvalluvar university/islamiah collegestudents 8148717754 (b) Dioptre (c) coma (b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (a) Refractive  index of the glass(b) light storage (d) obstacle of light (c) convex lens (a) focal length (c) 5555 A ̇ (b) Length (d) Transverse waves (b) opaque crystal
5/27/2020 18:59:33 dsubhash8877@gmail.com 56 / 100 D.subhash Thiruvallur University islamiah college vaniyambadistudents 9585498042 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (a) Refractive  index of the glass(b) light storage (d) obstacle of light (c) convex lens (a) focal length (c) 5555 A ̇ (b) Length (d) Transverse waves (b) opaque crystal
5/27/2020 18:59:36 naveen2282001@gmail.com 56 / 100 NAVEEN P THIRUVALLUR UNIVERSITY / ISLAMIAH COLLEGE,VANIYAMBADIstudents 6382366455 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (a) Refractive  index of the glass(b) light storage (d) obstacle of light (c) convex lens (a) focal length (c) 5555 A ̇ (b) Length (d) Transverse waves (b) opaque crystal
5/27/2020 18:59:47 naresh2282001@gmail.com 56 / 100 NARESH P Thiruvalluvar university/ Islamiah college,vaniyambadistudents 6383346626 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (a) Refractive  index of the glass(b) light storage (d) obstacle of light (c) convex lens (a) focal length (c) 5555 A ̇ (b) Length (d) Transverse waves (b) opaque crystal
5/27/2020 19:07:54 bk638002858@gmail.com 60 / 100 T Bharath Kumar Islamiah college students 6379178172 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(b) light storage (d) obstacle of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/27/2020 19:11:03 yuvaraj.yuvi2639@gmail.com 84 / 100 Yuvaraj .S Thiruvalluvar University Ishlamiah college students 6369107661 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (d) 5050 A ̇ (d) Brightness (a) straight waves (a) Iceland spar
5/27/2020 19:22:23 Prasanth2000prem@gmail.com 60 / 100 V. Prasanth University students 6385222948 (b) Dioptre (d) chromatic aberration (c) ) 3 × 10E8 mm/s (a) Divergent lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(b) light storage (b) Narrow light (d) Plano convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 19:23:28 ijazikram1111@gmail.com 84 / 100 A. Ijaz Ikram Thiruvalluvar university students 8098046773 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (c) Absorptive power of glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 19:36:14 ebinesar.s9384493056@gmail.com 84 / 100 Ebinesar.s Thiruvallur University islamiah college9384493056students 9384493056 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (a) less than 42˚ (c) ν = λ/C (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (b) Length (a) straight waves (a) Iceland spar
5/27/2020 19:38:45 navaneeth0906@gmail.com 96 / 100 Navaneeth.L Bharathiyar University/PSG College of arts and sciencestudents 8438472565 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (d) obstacle of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 19:47:55 1999abdur@gmail.com 60 / 100 Abdur Rahaman F Islamiah college vnb students 9597708218 (c) millimeter (d) chromatic aberration (b) ) 3 × 10E5 km/s (a) Divergent lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (a) μ = Sin i/Sin r (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (d) Brightness (a) straight waves (b) opaque crystal
5/27/2020 19:51:55 naveenkannan186@gmail.com 56 / 100 Naveen k Thiruvalluvar University /islamiah collegestudents 9080909392 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (a) 0.0296 (b) more than 42˚ (d) ῦ = 1/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(b) light storage (a) bending of light (d) Plano convex lens (b) material (b) 5500 A ̇ (a) Mass (d) Transverse waves (b) opaque crystal
5/27/2020 19:57:52 ibnbasha1964@gmail.com 24 / 100 Akmal Islamiah college students 8807311228 (a) meter (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (a) Divergent lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (a) True (a) 0.0296 (d) at 32˚ (c) ν = λ/C (d) Length of  moon (b) 5.8 million miles (c) Candela (b) Galileo (a) 1677 (b) μ = Sin (A+D)/2 (b) Refractive properties of  glass(c) X-ray storage (a) bending of light (d) Plano convex lens (d) Dispersive Power (b) 5500 A ̇ (d) Brightness (a) straight waves (c) Refractive crystal
5/27/2020 19:59:55 muraliramesh091998@gmail.com 92 / 100 Murali M Islamiah college , Vaniyambadistudents 9843158375 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (b) ν = λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/27/2020 20:04:27 nirmalgandhi007@gmail.com 84 / 100 V.Nirmal Gandhi Thiruvalluvar University/ Islamiah collegestudents 9344468186 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (a) ν = C/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (a) Mass (c) Longitudinal waves (a) Iceland spar
5/27/2020 20:16:01 muralianu61@gmail.com 60 / 100 M. Murali Islamiah college students 9025478785 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (b) more than 42˚ (d) ῦ = 1/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (d) Planes of glass surface(c) X-ray storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (b) Length (c) Longitudinal waves (c) Refractive crystal
5/27/2020 20:28:31 rasirasi4061@gmail.com 20 / 100 S.Mohamed Rasi Thiruvallur university students 8608206676 (b) Dioptre (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (d) at 32˚ (c) ν = λ/C (a) Height of a star (b) 5.8 million miles (a) Dioptre (b) Galileo (c) 1769 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(c) X-ray storage (c) Straightening of light (a) concave lens (c) Refractive index (b) 5500 A ̇ (d) Brightness (a) straight waves (c) Refractive crystal
5/27/2020 21:01:09 jeearjun143bsc@gmail.com 80 / 100 B. Jeevanandam Thiruvalluvar University/Islamic  college, vaniyambadi students 9361503200 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (d) 1/d = (ν-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (d) 5050 A ̇ (d) Brightness (a) straight waves (a) Iceland spar
5/27/2020 22:44:08 amostom93@gmail.com 64 / 100 Amos Tom Jose Mary Matha College of Arts and Science, Periyakulamstudents 8921272553 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (d) 0.0168 (c) at 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (b) Armstrong (a) Sir Isaac Newton (b)1679 (d) μ =Cos i/Cos r (a) Refractive  index of the glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal

5/28/2020 5:51:54 aasifahmed2468@gmail.com 40 / 100 S. Aasif Ahmed Islamiah college Automousstudents 8124526422 (b) Dioptre (d) chromatic aberration (a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (a) True (c) 0.0193 (d) at 32˚ (c) ν = λ/C (d) Length of  moon (b) 5.8 million miles (c) Candela (d) Foucault (b)1679 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(b) light storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (b) Length (b) Progressive waves (c) Refractive crystal
5/28/2020 6:11:22 aasifahmed2468@gmail.com 84 / 100 S. Aasif Ahmed Islamiah college Automous students 9080138137 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(d) charge storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (a) straight waves (c) Refractive crystal
5/28/2020 6:54:05 lokgokul55@gmail.com 56 / 100 G.Lokesh Islamiah College students 9600879402 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (d) 0.0168 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(a) Image storage (d) obstacle of light (d) Plano convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (c) Longitudinal waves (c) Refractive crystal
5/28/2020 7:26:46 vinikumar244@gmail.com 64 / 100 Vinisha PSG College of arts and sciencestudents +918270958374 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (d) 0.0168 (b) more than 42˚ (c) ν = λ/C (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(d) charge storage (a) bending of light (b)  biconcave lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (b) opaque crystal
5/28/2020 7:39:50 umar35693569@gmail.com 44 / 100 Y.Md umar khan Islamiah college (Autonomous)students 7339036753 (a) meter (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (b) 0.0180 (b) more than 42˚ (c) ν = λ/C (b) Height of building (a) 5.8 trillion miles (b) Armstrong (c) Fizeau (b)1679 (b) μ = Sin (A+D)/2 (a) Refractive  index of the glass(d) charge storage (b) Narrow light (c) convex lens (c) Refractive index (b) 5500 A ̇ (c) Diameters (b) Progressive waves (b) opaque crystal
5/28/2020 8:18:17 pakashp132000@gmail.com 40 / 100 Dhamu Anna students 8248963509 (a) meter (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (d) 0.0168 (a) less than 42˚ (b) ν = λ (b) Height of building (c) 5.8 kilometer miles (b) Armstrong (b) Galileo (b)1679 (b) μ = Sin (A+D)/2 (a) Refractive  index of the glass(c) X-ray storage (b) Narrow light (c) convex lens (a) focal length (c) 5555 A ̇ (a) Mass (a) straight waves (a) Iceland spar
5/28/2020 8:23:45 apjmohan007@gmail.com 84 / 100 M.mohan Thiruvalluvar students 6374599263 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (d) 0.0168 (a) less than 42˚ (b) ν = λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (b) μ = Sin (A+D)/2 (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/28/2020 8:25:42 prakashpalani14327@gmail.com 84 / 100 P. Prakash Thiruvalluvar students 6369012315 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (b) μ = Sin (A+D)/2 (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (a) straight waves (b) opaque crystal
5/28/2020 8:53:22 saifullahz4743@gmail.com 80 / 100 SAIFULLAH Z ISLAMIAH COLLEGE students 9003634743 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (b) 0.0180 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (b) Refractive properties of  glass(d) charge storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar

5/28/2020 10:28:25 deepandhanushrd2000@gmail.com 80 / 100 R.DEEPAN Institutions students 6379452717 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (d) 0.0168 (a) less than 42˚ (a) ν = C/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(c) X-ray storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/28/2020 11:04:52 mduavzec@gmail.com 32 / 100 C. Mohammed Uvaze Islamiah college students 9095826230 (a) meter (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (c) 0.0193 (d) at 32˚ (c) ν = λ/C (b) Height of building (b) 5.8 million miles (d) meter (a) Sir Isaac Newton (c) 1769 (c) μ = tan ip (a) Refractive  index of the glass(c) X-ray storage (a) bending of light (b)  biconcave lens (c) Refractive index (c) 5555 A ̇ (d) Brightness (d) Transverse waves (d) positive crystal
5/28/2020 11:33:24 pvenkat001prabhu@gmail.com 76 / 100 Venkatesan P Islamiah college students 6369620668 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (a) concave lens (d) Dispersive Power (c) 5555 A ̇ (b) Length (d) Transverse waves (a) Iceland spar
5/28/2020 17:00:31 rubesh142@gmail.com 84 / 100 Rubesh.T Thiruvaluvar university islamiah collegestudents 8508053041 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (d) 5050 A ̇ (d) Brightness (a) straight waves (a) Iceland spar
5/28/2020 17:03:51 imranbinumair@gmail.com 92 / 100 Mohammed Imran A H Islamiah college students 8807111848 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (a) ν = C/λ (b) Height of building (a) 5.8 trillion miles (d) meter (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/28/2020 18:06:03 noorfathimaa52@gmail.com 56 / 100 A.NOOR FATHIMA WISDOM PARK SCHOOL students 6369910073 (b) Dioptre (b) Distortion (c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (b) 0.0180 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (a) μ = Sin i/Sin r (b) Refractive properties of  glass(c) X-ray storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (a) straight waves (c) Refractive crystal
5/28/2020 18:31:59 karthikthulasingam007@gmail.com 48 / 100 Karthik T Thiruvalluvar University students 9080714363 (a) meter (c) coma (a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (c) 0.0193 (a) less than 42˚ (b) ν = λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (d) Planes of glass surface(c) X-ray storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (d) Brightness (b) Progressive waves (b) opaque crystal
5/28/2020 22:32:50 tharunking20@gmail.com 36 / 100 Tharun adithya.k Islamiya autonomous clg students 6382518802 (b) Dioptre (d) chromatic aberration (c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (c) at 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (d) meter (a) Sir Isaac Newton (c) 1769 (c) μ = tan ip (c) Absorptive power of glass(c) X-ray storage (a) bending of light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (b) Length (b) Progressive waves (d) positive crystal
5/29/2020 11:05:06 khateejatul@gmail.com 40 / 100 Niha Suman Islamiah women's arts and science Collegestudents 9150670302 (b) Dioptre (b) Distortion (c) ) 3 × 10E8 mm/s (a) Divergent lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (b) false (b) 0.0180 (a) less than 42˚ (c) ν = λ/C (a) Height of a star (a) 5.8 trillion miles (c) Candela (b) Galileo (c) 1769 (c) μ = tan ip (a) Refractive  index of the glass(c) X-ray storage (a) bending of light (b)  biconcave lens (a) focal length (b) 5500 A ̇ (a) Mass (d) Transverse waves (c) Refractive crystal
5/29/2020 12:43:13 bshaikusman@gmail.com 60 / 100 B. S UNAIZA USMANI Marudhar kesari jain college for womenstudents 9344090060 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (d) 0.0168 (c) at 42˚ (d) ῦ = 1/λ (a) Height of a star (a) 5.8 trillion miles (b) Armstrong (a) Sir Isaac Newton (a) 1677 (a) μ = Sin i/Sin r (d) Planes of glass surface(a) Image storage (d) obstacle of light (b)  biconcave lens (c) Refractive index (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/29/2020 13:31:53 mohammedhashim536@gmail.com 76 / 100 Mohommed Hashim University students 9944076356 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (b) false (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (c) 1769 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (d) positive crystal
5/29/2020 14:40:29 arshanml@yahoo.com 52 / 100 ML. Mohammed Kaleem Arshan Islamiah College (Autonomous)Research Scholars 9677353300 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (c)  same (d) 0.0168 (a) less than 42˚ (c) ν = λ/C (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (d) μ =Cos i/Cos r (a) Refractive  index of the glass(a) Image storage (d) obstacle of light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (c) Diameters (b) Progressive waves (a) Iceland spar
5/29/2020 15:21:56 cgruyffh520779@gmail.com 8 / 100 Munna Khan Thiruvalluvar University students 8940999343 (c) millimeter (b) Distortion (c) ) 3 × 10E8 mm/s (a) Divergent lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](b)1.5 (c)  same (d) 0.0168 (b) more than 42˚ (c) ν = λ/C (a) Height of a star (d) 5.8 lakh miles (d) meter (a) Sir Isaac Newton (c) 1769 (b) μ = Sin (A+D)/2 (c) Absorptive power of glass(d) charge storage (a) bending of light (a) concave lens (b) material (c) 5555 A ̇ (d) Brightness (a) straight waves (c) Refractive crystal
5/29/2020 15:26:24 apsar6369@gmail.com 88 / 100 Apsar.B Thiruvalluvar University students 6369227305 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (a) ν = C/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (a) straight waves (c) Refractive crystal
5/29/2020 19:38:37 naveenkumarravi142@gmail.com 96 / 100 Naveen Kumar R Islamiah College students 9080503801 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/29/2020 19:57:22 sadhasi2022@gmail.com 8 / 100 M.Sadhasivam Thiruvalluvar University students 8838229599 (c) millimeter (d) chromatic aberration (a) 3 × 10E8 km/s (a) Divergent lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (a) True (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (b) 5.8 million miles (b) Armstrong (b) Galileo (c) 1769 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(c) X-ray storage (c) Straightening of light (d) Plano convex lens (b) material (d) 5050 A ̇ (a) Mass (b) Progressive waves (c) Refractive crystal
5/29/2020 20:11:15 jenianto286@gmail.com 32 / 100 A.Jenifer Deepa Arasi Sacred Heart college,Tirpatturstudents 9751976151 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](b)1.5 (a) True (c) 0.0193 (d) at 32˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (c) Fizeau (c) 1769 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(c) X-ray storage (a) bending of light (b)  biconcave lens (c) Refractive index (b) 5500 A ̇ (d) Brightness (b) Progressive waves (b) opaque crystal
5/29/2020 20:35:23 rajasekarrajasekar571@gmail.com 24 / 100 Raj Bharathiar students 8270737106 (b) Dioptre (c) coma (a) 3 × 10E8 km/s (d) none of these (a) 1/f = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (c)  same (c) 0.0193 (c) at 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (b) Armstrong (a) Sir Isaac Newton (c) 1769 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(c) X-ray storage (d) obstacle of light (a) concave lens (a) focal length (a) 5000 A ̇ (a) Mass (d) Transverse waves (b) opaque crystal
5/29/2020 20:38:53 ahmedmuzammil238@gmail.com 44 / 100 Muzammil ahmed ISLAMIAH COLLEGE *Autonomousstudents 9597598624 (a) meter (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (a) less than 42˚ (c) ν = λ/C (c) Height of Sun (b) 5.8 million miles (c) Candela (a) Sir Isaac Newton (b)1679 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(b) light storage (b) Narrow light (c) convex lens (d) Dispersive Power (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/29/2020 20:39:13 newchange485@gmail.com 60 / 100 D. Shalini shalom Thiruvallur students 6374272002 (b) Dioptre (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (b) false (c) 0.0193 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (a) concave lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (b) opaque crystal
5/29/2020 20:42:21 vibinchandirapaul@gmail.com 64 / 100 Vibin Chandira Paul C Sacred Heart college, Tirupatturstudents 9500820722 (a) meter (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (d) meter (d) Foucault (b)1679 (a) μ = Sin i/Sin r (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (a) 5000 A ̇ (c) Diameters (d) Transverse waves (b) opaque crystal
5/29/2020 20:46:08 bhuvaneswarimeena12@gmail.com 20 / 100 Bhuvaneswari. R Sacred Heart college (Autonomous) students 9629329843 (d) nanometer (d) chromatic aberration (d) ) 3 × 10E5 m/s (a) Divergent lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (d) 0.0168 (d) at 32˚ (a) ν = C/λ (a) Height of a star (b) 5.8 million miles (c) Candela (c) Fizeau (a) 1677 (d) μ =Cos i/Cos r (a) Refractive  index of the glass(b) light storage (b) Narrow light (d) Plano convex lens (a) focal length (b) 5500 A ̇ (d) Brightness (b) Progressive waves (b) opaque crystal
5/29/2020 20:51:09 ezhilarasan58387@gmail.com 72 / 100 EZHILARASAN.M Sacred Heart College students 7540052121 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (c) 1769 (c) μ = tan ip (b) Refractive properties of  glass(b) light storage (a) bending of light (c) convex lens (a) focal length (a) 5000 A ̇ (d) Brightness (d) Transverse waves (b) opaque crystal
5/29/2020 20:54:45 mmadhumathitharun125@gmail.com 52 / 100 Madhumathi.M Sacred Heart College tpt students 8838557167 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (b) 5.8 million miles (c) Candela (a) Sir Isaac Newton (a) 1677 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(a) Image storage (a) bending of light (a) concave lens (a) focal length (c) 5555 A ̇ (b) Length (d) Transverse waves (c) Refractive crystal
5/29/2020 21:06:15 dineshkohli118@gmail.com 48 / 100 R.Dinesh Sacred heart college tirupatturstudents 8072463016 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (d) 0.0168 (c) at 42˚ (d) ῦ = 1/λ (d) Length of  moon (b) 5.8 million miles (d) meter (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (a) concave lens (b) material (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/29/2020 21:07:51 magimaiantoniraj@gmail.com 32 / 100 D.Magimai Antoni Raj Sacred Heart College, TirupatturResearch Scholars 9025685004 (b) Dioptre (d) chromatic aberration (a) 3 × 10E8 km/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (b) false (c) 0.0193 (b) more than 42˚ (a) ν = C/λ (c) Height of Sun (b) 5.8 million miles (b) Armstrong (c) Fizeau (b)1679 (c) μ = tan ip (c) Absorptive power of glass(c) X-ray storage (b) Narrow light (b)  biconcave lens (a) focal length (b) 5500 A ̇ (c) Diameters (b) Progressive waves (a) Iceland spar
5/29/2020 21:39:35 aishnepoleyan@gmail.com 32 / 100 Aishwarya N Sacred Heart College (Autonomous) Tirupatturstudents 9344805858 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (a) Divergent lens (d) 1/d = (ν-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (c) at 42˚ (c) ν = λ/C (c) Height of Sun (b) 5.8 million miles (b) Armstrong (d) Foucault (c) 1769 (a) μ = Sin i/Sin r (b) Refractive properties of  glass(c) X-ray storage (b) Narrow light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (c) Longitudinal waves (a) Iceland spar
5/29/2020 22:23:47 thresakethrin@gmail.com 76 / 100 Kethrin thresa. S Sacred Heart College students 8526860274 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (c) 0.0193 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/29/2020 22:55:20 diviyapriya7111999@gmail.com 48 / 100 S.DIVIYA PRIYA SACRED HEART COLLEGE (AUTONOMOUS)  students 8072768248 (b) Dioptre (d) chromatic aberration (a) 3 × 10E8 km/s (d) none of these (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (b) more than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (d) Foucault (c) 1769 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(a) Image storage (a) bending of light (a) concave lens (b) material (b) 5500 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal

5/30/2020 6:28:20 govindaaru1298@gmail.com 72 / 100 A.GOVINDASAMY SACRED HEART COLLEGE(AUTONOMOUS),TIRUPATTUR-635601.students 8526663501 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (b) Refractive properties of  glass(b) light storage (a) bending of light (b)  biconcave lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (b) opaque crystal
5/30/2020 8:30:29 deepissp2018@gmail.com 40 / 100 S.Deepika Sacred Heart College,Tiruppaturstudents 6379578095 (a) meter (d) chromatic aberration (a) 3 × 10E8 km/s (a) Divergent lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (d) meter (b) Galileo (b)1679 (b) μ = Sin (A+D)/2 (c) Absorptive power of glass(a) Image storage (a) bending of light (d) Plano convex lens (d) Dispersive Power (b) 5500 A ̇ (a) Mass (c) Longitudinal waves (b) opaque crystal
5/30/2020 9:29:17 srisaran325@gmail.com 40 / 100 Saran Kumar sacred heart college students 7402243672 (c) millimeter (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (c) at 42˚ (a) ν = C/λ (c) Height of Sun (b) 5.8 million miles (a) Dioptre (b) Galileo (c) 1769 (c) μ = tan ip (b) Refractive properties of  glass(b) light storage (c) Straightening of light (b)  biconcave lens (d) Dispersive Power (a) 5000 A ̇ (c) Diameters (d) Transverse waves (b) opaque crystal

5/30/2020 10:13:59 Senbajeeva@gmail.com 48 / 100 S.SENBAGAVALLI SACRED HEART COLLEGE students 8940796940 (b) Dioptre (c) coma (c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (c) 0.0193 (b) more than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (d) meter (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(c) X-ray storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (b) Length (b) Progressive waves (b) opaque crystal
5/30/2020 10:56:08 dshobana02@gmail.com 72 / 100 SHOBANA.D Sacred Heart College (Autonomous), Tirupattur.students 8098090124 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (c) 0.0193 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (a) bending of light (c) convex lens (a) focal length (a) 5000 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/30/2020 13:53:57 pvenkat001prabhu@gmail.com 96 / 100 Venkatesan P Islamiah college students 6369620668 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/30/2020 14:21:27 ajimass001@gmail.com 100 / 100 P venkatesan College students 6369620668 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/30/2020 16:15:59 nihaniha2906@gmail.com 68 / 100 T. NIHA Sacred Heart College students 8428923179 (a) meter (b) Distortion (c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (d) 0.0168 (a) less than 42˚ (d) ῦ = 1/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/30/2020 17:24:26 akshadha7398@gmail.com 72 / 100 P.AKSHADHA Sacred Heart College students 7339544869 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(a) Image storage (d) obstacle of light (c) convex lens (a) focal length (d) 5050 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/30/2020 18:14:30 shivushock777@gmail.com 60 / 100 A.Sivakumar Sacred Heart College, TirupatturResearch Scholars 9384501607 (b) Dioptre (d) chromatic aberration (d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (a) True (d) 0.0168 (a) less than 42˚ (a) ν = C/λ (b) Height of building (a) 5.8 trillion miles (a) Dioptre (d) Foucault (b)1679 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(a) Image storage (a) bending of light (d) Plano convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/30/2020 18:28:08 iswariya24899@gmail.com 60 / 100 Iswariya.S Sacred heart college (Autonomus), Tpt students 9385684855 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (d) 0.0168 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (d) meter (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (c) Absorptive power of glass(c) X-ray storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/30/2020 18:58:08 mvel9808@gmail.com 52 / 100 Muthuvel.V Sacred heart college students 9487954427 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (a) less than 42˚ (a) ν = C/λ (c) Height of Sun (b) 5.8 million miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (a) Refractive  index of the glass(c) X-ray storage (a) bending of light (a) concave lens (a) focal length (c) 5555 A ̇ (c) Diameters (b) Progressive waves (b) opaque crystal
5/30/2020 19:01:04 saran12071993@gmail.com 52 / 100 G.Esaivani Sacred Heart college (Autonomous), Tirupatturstudents 6374416115 (a) meter (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (d) 0.0168 (a) less than 42˚ (a) ν = C/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (b) μ = Sin (A+D)/2 (c) Absorptive power of glass(a) Image storage (c) Straightening of light (d) Plano convex lens (d) Dispersive Power (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal
5/30/2020 19:47:02 sathyavichu2016@gmail.com 56 / 100 SATHYA E SSCRED HEART COLLEGEResearch Scholars 989453136 (a) meter (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (c)  same (d) 0.0168 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (b) 5.8 million miles (c) Candela (a) Sir Isaac Newton (b)1679 (a) μ = Sin i/Sin r (b) Refractive properties of  glass(b) light storage (a) bending of light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
5/30/2020 20:07:12 then1998mozhi@gmail.com 56 / 100 Thenmozhi Government Arts College  For Menstudents 8344886680 (b) Dioptre (d) chromatic aberration (b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](a) 1.65 (a) True (c) 0.0193 (c) at 42˚ (d) ῦ = 1/λ (a) Height of a star (c) 5.8 kilometer miles (c) Candela (b) Galileo (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (c) Diameters (a) straight waves (c) Refractive crystal
5/30/2020 20:48:39 abuanbu33@gmail.com 48 / 100 Anbu.R Government arts college men Krishnagiristudents 8438223862 (b) Dioptre (d) chromatic aberration (a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (a) ν = C/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (b) μ = Sin (A+D)/2 (a) Refractive  index of the glass(b) light storage (c) Straightening of light (a) concave lens (a) focal length (b) 5500 A ̇ (b) Length (c) Longitudinal waves (c) Refractive crystal
5/30/2020 20:50:29 divakarchemistry@gmail.com 36 / 100 DIVAKAR K SACRED HEART COLLEGE (AUTONOMOUS)students 8940726566 (b) Dioptre (a)  spherical aberrations and coma(a) 3 × 10E8 km/s (c) convergent  lens (b) 1/u = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (b) false (c) 0.0193 (a) less than 42˚ (c) ν = λ/C (d) Length of  moon (b) 5.8 million miles (c) Candela (d) Foucault (a) 1677 (b) μ = Sin (A+D)/2 (b) Refractive properties of  glass(c) X-ray storage (a) bending of light (a) concave lens (a) focal length (b) 5500 A ̇ (c) Diameters (a) straight waves (c) Refractive crystal
5/30/2020 21:14:12 gokilavani.kumaresan@gmail.com 68 / 100 Gikilavani K Government arts college for men, krishnagiri students 9500720272 (b) Dioptre (b) Distortion (a) 3 × 10E8 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (b) 0.0180 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (d) Plano convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (b) Progressive waves (b) opaque crystal

5/31/2020 7:12:43 aprince97vr@gmail.com 48 / 100 Elavarasi.A Sacred heart college students 6382311904 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (c) 1/v = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (d) 0.0168 (a) less than 42˚ (a) ν = C/λ (c) Height of Sun (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (a) μ = Sin i/Sin r (a) Refractive  index of the glass(b) light storage (a) bending of light (b)  biconcave lens (a) focal length (a) 5000 A ̇ (d) Brightness (d) Transverse waves (c) Refractive crystal
5/31/2020 7:45:18 kiubhagaran72@gmail.com 60 / 100 kirubagaran.r sacred heart college students 9790381997 (b) Dioptre (c) coma (b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (b) false (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (a) Height of a star (a) 5.8 trillion miles (c) Candela (b) Galileo (b)1679 (a) μ = Sin i/Sin r (b) Refractive properties of  glass(b) light storage (a) bending of light (a) concave lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (c) Refractive crystal

5/31/2020 11:50:24 vsandhiyathirupattur@gmail.com 32 / 100 Sandhiya v Priyadarshini engineering collegestudents 9566532982 (b) Dioptre (b) Distortion (a) 3 × 10E8 km/s (d) none of these (c) 1/v = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (d) 0.0168 (a) less than 42˚ (b) ν = λ (d) Length of  moon (c) 5.8 kilometer miles (d) meter (b) Galileo (c) 1769 (c) μ = tan ip (b) Refractive properties of  glass(a) Image storage (d) obstacle of light (a) concave lens (b) material (d) 5050 A ̇ (c) Diameters (d) Transverse waves (b) opaque crystal
5/31/2020 12:24:41 sankartptvellore123@gmail.com 100 / 100 SANKAR V Islamiah college(autonomous)-vaniyambadistudents 9597035824 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar

6/1/2020 16:58:14 balveersinghd215@gmail.com 72 / 100 BalveerSingh.D Islamiah college students 6379369380 (b) Dioptre (b) Distortion (b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (c) 0.0193 (a) less than 42˚ (d) ῦ = 1/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (a) 1677 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (b) Length (d) Transverse waves (c) Refractive crystal
6/2/2020 12:49:14 mohamadazeem2000@gmail.com 56 / 100 N MOHAMAD AZEEM Islamiah college students 9994398781 (b) Dioptre (a)  spherical aberrations and coma(c) ) 3 × 10E8 mm/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (a) 0.0296 (a) less than 42˚ (c) ν = λ/C (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (b) Refractive properties of  glass(a) Image storage (b) Narrow light (b)  biconcave lens (a) focal length (c) 5555 A ̇ (b) Length (a) straight waves (c) Refractive crystal
6/2/2020 23:47:08 elakiyavenkat2000@gmail.com 60 / 100 V.S.Elakiya Vivekananda arts and sciences college for women sankaristudents 8220132587 (b) Dioptre (a)  spherical aberrations and coma(d) ) 3 × 10E5 m/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](c) 1.33 (a) True (d) 0.0168 (a) less than 42˚ (a) ν = C/λ (d) Length of  moon (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (b) μ = Sin (A+D)/2 (a) Refractive  index of the glass(a) Image storage (a) bending of light (a) concave lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (b) opaque crystal
6/2/2020 23:51:48 nandhumohan257@gmail.com 96 / 100 M. Nandhini Sacred Heart College students 6381619774 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (c) 5555 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
6/4/2020 11:07:33 minithag25@gmail.com 36 / 100 Priya Csi students 9486977425 (a) meter (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (c)  same (c) 0.0193 (d) at 32˚ (b) ν = λ (d) Length of  moon (b) 5.8 million miles (c) Candela (d) Foucault (b)1679 (c) μ = tan ip (b) Refractive properties of  glass(a) Image storage (b) Narrow light (b)  biconcave lens (b) material (c) 5555 A ̇ (b) Length (b) Progressive waves (b) opaque crystal
6/4/2020 16:37:04 venkatesandi75@gmail.com 100 / 100 V.S.Elakiya Vivekananda arts and sciences college for women sankaristudents 9443006857 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar
6/4/2020 18:47:16 coolcganesan@gmail.com 100 / 100 MONICA .G Sacred Heart College students 9486677425 (b) Dioptre (a)  spherical aberrations and coma(b) ) 3 × 10E5 km/s (c) convergent  lens (a) 1/f = (μ-1) [(1/R1)- (1/R2)](d) 1.44 (a) True (b) 0.0180 (a) less than 42˚ (d) ῦ = 1/λ (b) Height of building (a) 5.8 trillion miles (c) Candela (a) Sir Isaac Newton (b)1679 (c) μ = tan ip (d) Planes of glass surface(a) Image storage (a) bending of light (c) convex lens (a) focal length (b) 5500 A ̇ (c) Diameters (d) Transverse waves (a) Iceland spar


